Corrections to Answer Key for 

Fall 2006: Midterm 2: Section 1
Problem 3:

The table displayed is correct, however when summing the cost and error was made:

	2
	4
	3
	2
	12
	2
	16
	21
	1
	9

	16
	2
	3
	1
	12
	00
	1
	3
	1
	8

	2
	2
	16
	3
	12
	11
	3
	3
	2
	9

	2
	11
	4
	11
	2
	1
	2
	3
	16
	8

	6
	1
	6
	1
	6
	1
	6
	1
	6
	


1(6) + 1(1) + 1(6) + 1(1) + 1(2) + 1(2) + 1(2) + 0(0) + 1(1) + 1(6) +2(1) + 1(6) =
6 + 1 + 6 + 1 + 2 + 2 + 2 + 0 + 1 + 6 + 2 + 6 = 35 (not 34 as is written)

Problem 5

While the solution is correct, the method shown does not work the way it should the solution uses:

	
	
	
	-2
	
	

	-1
	1
	2
	3
	4
	2

	-2
	2
	3
	4
	6
	2

	-1
	3
	1
	5
	3
	1

	-1
	1
	3
	4
	3
	1

	-1
	1
	1
	2
	1
	3


Which yields the following table:

	0*
	1
	0
	3
	1

	0
	1
	0*
	4
	0

	2
	0*
	2
	2
	0

	0
	2
	1
	2
	0*

	0
	0
	-1
	0*
	2


The -1 is shown in the answer key as 0, but clearly is not as it corresponds to 2 – 2 -1 = -1, not 0.
Better approaches to this problem are shown below:

SUBTRACTING ROWS 1st 

	
	
	
	-1
	
	

	-1
	1
	2
	3
	4
	2

	-2
	2
	3
	4
	6
	2

	-1
	3
	1
	5
	3
	1

	-1
	1
	3
	4
	3
	1

	-1
	1
	1
	2
	1
	3


Which yields the following table:

	0*
	1
	1
	3
	1

	0
	1
	1*
	4
	0

	2
	0*
	3
	2
	0

	0
	2
	2
	2
	0*

	0
	0
	0
	0*
	2


OR, SUBTRACTING COLUMNS 1st 

	
	-1
	-1
	-2
	-1
	-1

	
	1
	2
	3
	4
	2

	-1
	2
	3
	4
	6
	2

	
	3
	1
	5
	3
	1

	
	1
	3
	4
	3
	1

	
	1
	1
	2
	1
	3


Which yields the following table:

	0*
	1
	1
	3
	1

	0
	1
	1*
	4
	0

	2
	0*
	3
	2
	0

	0
	2
	2
	2
	0*

	0
	0
	0
	0*
	2


All which yield an optimal solution of min = 1 + 1 + 4 + 1 + 1 = 8.
